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Time: 10 Minutes Paper English 4 (T-1) Total Marks: 10
Sth Month, 4th Week, 2nd Day
Syllabus: Unit # 11: Pg# 108, 109 Pronoun + Tenses.

Q.No.1. Choose the correct option. A3)
1. Identify the object pronoun: "Give this book to me."
| (a) | book |(b) this | () | to |(d)| me |

2. "Possessive pronoun' is used for .
[(@)] ownership [(b)] possession [(c)] arranging [(d)| bothaandb |
3. "That shoes are not hers." The underlined word is:

(a) object pronoun (b) subject pronoun
(©) possessive pronoun (d) none of these

4. Identify the simple present.

(a) The fox is eating grapes. (b) The fox eats grapes.
(©) The fox will eat grapes. (d) None of these

5. The stork went to the fox's place. The tense of the sentence is:

|(a)| simple present |(b)| simple past |(c)| simple future |(d)| past continuous |
6. Does the fox eat grapes? The tense of the sentence is:

[(a)| simple present [(b)| simple past [(c)| simple future [(d)]past continuous |
Q.No.2. Identify the tense of the sentence. 5)

* Villagers are eating. Simple Continuous/ Simple Present

* The fox does not eat grapes. Simple Continuous/ Simple Present

e The stork did not go to the fox's place. Simple Past/ Simple Present

e The fox eats grapes. Simple Past/ Simple Present

e Villagers are not eating. Simple Past/ Simple Present

Q.No.3. Write two sentences of your own using simple present and simple
past. 2
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